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Secondary Math 2     Name_________________________________________ 
8-4 Trigonometric Inverses                       Period_________ 
 
Using a calculator, find each angle measure to the nearest degree. 
 

1) sin B = 0.4848   2) cos A = 0.7431   3)  tan C = 0.5317 
 
 

WITHOUT using a calculator, find each exact angle measure. 

4)   sin D = 
3

2
    5)   cos F = 0    6)   tan E = 3   

 
 
 
Find the measure of the indicated angle to the nearest degree. 
 

7)            8)          
 
 
 
 
 

9)                          10)        
 
 
 
 
 
 
Solve the right triangle. Round to the nearest tenth. 
 

11)          12)           
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 15) You are hiking up a mountain peak.  You begin hiking at a trailhead.  The trail ends near the summit at  
        14,255 ft.  The horizontal distance between these two points is about 17,625 feet.  Estimate the angle of  
        elevation from the trailhead to the summit. Round your answer to the nearest tenth. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 16) During its approach to Earth, the space shuttle’s glide angle changes.  When the space shuttle is 5 miles from  
        the runway, its glide angle is about 19 degrees.  Find the shuttle’s altitude at this point in its descent.  Round  
        your answer to the nearest tenth. 
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Selected Answers 
 

1. B=29° 
 

3. C=28° 
 

5. F=90° 
 
7.  x=35° 
 
9. x=26° 
 

11. 

  

p = 12 ÐP = 67.4°

q = 13 ÐQ = 90°

r = 5 ÐR = 22.6°

  

 

13.  

  

x = 10.9 ÐX = 52°

y =8.5 ÐY = 38°

z =13.8 ÐZ = 90°

 

 
15.  39° 


